ITI Turner 2nd Year Module 10 Documentation and GD & T

(1). What is measured from start time taken to end of machining a job? | WW

o forg A=A & 3= 9 ofd de fore 70 wa 3§ o1 [197 oifelT 82
(A) Machine cycle time | 7R 9% 999

(B) Overall cycle time | 1 TEICIIhR HTSfdh el BT HY
(C) Cycle time | dsh HHY

(D) Production cycle time | SdIqd ddh HHY

Correct Answer : C

(2). Which class of geometric tolerance indicate concentricity? | ST efan g

&1 I T av ATl GRITT 62
(A) Run out | ¥ 3HT13C

(B) Orientation | 34||§Q%QI:I
(C) Location | AIh
(D) Profile | Entb_lgﬁ

Correct Answer : C

(3). What geometrical characteristic indicated by symbol? | foog sonfardia

IR &1 Ui gRT exiaT T 82

[/

(A) Runout | X T3



(B) Circular runout | Hgim A3 C

(C) Total runout | TIed IAATIC
(D) Partial runout | 3HifRIeh ITIM3C

Correct Answer : C

(4). What characteristics geometrical tolerance the symbol indicate? | Ui &I

Sid B aTelt St AT fasar o g2
‘@ gom | A

(A) Concentricity | ﬂ@m
(B) Symmetry | JHHI

(C) Position | ICIG]

(D) Perpendicularity | d&2Ud[

Correct Answer : A

(5). What is called to decrease or Increase gradually in Width or Thickness? |

GreTs T AeTs § eR-4R v a1 9¢ & T Hed 87
(A) Horizontal | aﬁﬁ

(B) Taper | ’-‘21@
(C) Parallel | JHIR

(D) Vertical | dddd

Correct Answer : B



(6). What is the reason for using geometrical tolerance? | ST el g &l
JUINT HA BT HRUTFT 52

(A) Indicate variation in size | 3THR H HZdT SRId BT

(B) Set the clearance limit | FAroR g fafire Ruifa &

(C) Produce components fits precisely | WW%W@W@%%
(D) Indicate tolerance zone | ‘c"m\ﬁqgﬁﬂm

Correct Answer : C

(7). Which line is touching a curved surface at one point but not intersecting it? |

DI G 3T I T B! U fog W Falt & A dled! 7ol 82
(A) Tangent line | T XTI

(B) Section line | WS &I

(C) Hidden line | f5T g8 ¥

(D) Centre line | &g ¥l

Correct Answer : A

(8). Which drawing having height and width? | fog §I’i;‘| H \%dl'ir GﬁT?ﬁ?:'I_SC%?
(A) Three - Dimensional space | i - ST T
(B) Two dimensional | ARSI

(C) Three dimensional | I ST
(D) Multi dimensional |a‘§&rrqr£ﬁ

Correct Answer : B

(9). Which is the geometrical symbol for flatness? | WWW@?W%?



(A)

(B) [

(© :
7N

(D)

Correct Answer : B

(10). Which class of geometric tolerance indicate flatness? | ST TTa g &1

I T G g GRITdT 62
(A) Run out | X 313C

(B) Location | TSI

(C) Form | BIH

(D) Attitude | UfcCS

Correct Answer : C



(11). What is the symbol of tolerance to the surface? | W%Uﬁf eI &1
gl |18 2

|—| e |0.05 |

(A) Curved surface | YHIAGR Hdg
(B) Taper surface | %WW

(C) Convex surface | 3dd Hdg

(D) Parallel surface | JHMIAR Idg

Correct Answer : A

(12). What is the system of finding the faults in any machine and also removal of

faults? | foralt +ft 7=fi & 19 WIoM 3R SIY &Y R B &1 JUTTe T 82
(A) Inspection | fFRieor

(B) Production | <TG

(C) Maintenance | YWRW[d

(D) Marketing | f9OU=

Correct Answer : C



(13). Which geometrical form indicated? | o o foog Sarfirdia wid o1 Hohd
fArearg?

In==1kx

(A) Parallelism | JHIAI
(B) Squareness | HNHRYT
(C) Flatness | JHJAI
(D) Straightness | IR

Correct Answer : D

(14). What is a program in CNC machine? | CNC Wﬁ@ﬁ’ﬂ'ﬂﬂ%’r‘

(A) A systematic arrangement of tools | mﬁwm@mmﬂ

(B) A systematic arrangement of machine | mﬂﬁaﬁwmﬁmmﬂ
(C) A systematic arrangement of instruction | ﬁ%@ﬁwm@amﬂ

(D) A systematic arrangement of present tools | GREIE e &t Uh Faryd
AdRY[

Correct Answer : C

(15). Which document instructs the work team to take up the production work? |

I T STl BT S ) IAUTGT BT DI BT e aaTe?
(A) Maintenance card | J@RATd HTS

(B) Jobcard | CIEKARS

(C) Bill of material | BIEPICAIR]




(D) Work activity log | 1 Tfafafd @

Correct Answer : B

(16). What is graphical representation of activities from raw material to the

finished product? | F HId I IR IdTE dob Tiafafdat &1 fepma ufafAfera
FTG?

(A) Productivity | SdTqdhdl ROid
(B) Bill of material | it &1 fod
(C) Production cycle time | Sl ddh b HY

(D) Process chart | IERICI

Correct Answer : D

(17). Which dimensional tolerance the given figure indicates? | é:f"l_sc Wﬁ[ﬁm

faeitg cled 1 axifdt 82

/—H}|ﬁn_ﬂﬂ|A|B|

7

(A) Concentricity | W\ﬁ?ﬁﬁlﬁ
(B) Circularity | Wﬁﬂ

(C) Position | ICIG]

(D) Cylindricity | IRINLERIE]



Correct Answer : C

(18). What is the geometrical tolerance on surface? | WWWT&IT%J GRS
T g?

NOT CONCAVE

D 0.05 0.05
A—

- ==
. !

(A) Angularity | CAEAREII]
(B) Flatness | JHJII

(C) Curved surface | YHIdGR ddg
(D) Squareness | GHICAIRG]

Correct Answer : B

(19). What is acute angle? | Y- W H] '5-\|C|| %?
(A) Equal to 180° | 180° & SRT&R

(B) Equal to 90° | 90° o SRTER

(C) Lesserthan 90° | 90° J HH

(D) Greater than 90° | 90° I 3

Correct Answer : C

(20). Which department keeps the machines and equipments in good operating

condition? | I IT faUTT 7= 3R SNWIRI Y 33} uf=re fufa & xgar g»
(A) Production | 3dIg



(B) Quality | TJUTddl
(C) Maintenance | YWRM[d

(D) Tool room | 31:|G|, Rl BT HERI

Correct Answer : C

(21). How many classes are available in geometrical tolerance? | AT elaRy
o fpan o7l Suas §?

(A) 3

(B) 6
(C) 8
(D) 9

Correct Answer : A

(22). What is symbol of tolerance related to angularity? | CANIERIEREIRE]
eI BT Ui o /7

(B) //
i



p

(D)
Correct Answer : D

(23). What is the expansion of CCW? | CCW Wﬁﬁﬂﬂzﬂ%?
(A) Counter Clock Wise

(B) Centre Clock Wise

(C) Counter Clock Watch

(D) Centre Clock Watch

Correct Answer : A

(24). What is the expansion of CPU? | CPU Wﬁﬁﬂﬂzﬂ%l?
(A) Central Placed Unit

(B) Central Positioned Unit

(C) Central Planned Unit

(D) Central Processing Unit

Correct Answer : D

(25). Which device is used to connect two shafts together at their ends for the

purpose of transmitting power? | Y[fad JaTRd B & d-‘E\'(Qq @[amﬁ
3% R R T 1Y S8 & fore fvg o3 &1 SuaivT fosar S 82

(A) Spline | qg"r
(B) Coupling | HUfCHT
(C) Collet | PIfcIc




(D) Flange | tI%Trf

Correct Answer : B



